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A. Choose the correct answer. 

1- I would like ( a – an – some ) cup of coffee. 

2-There are ( some – any - a ) burgers. 

3-We don't like the soup . it's ( too – enough – many ) salty. 

4- The tea is hot ( too – enough – much ) . I can drink it. 

5-I don’t have( too – many – enough ) time to cook dinner. 

6- It’s difficult to study when there’s too ( many – much – some) noise outside. 
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B. Do as shown between brackets. 

(correct) 

                                                  friends……………….much  Omar has too-1 

                                    . ………….  money to buy this watch tooI don’t have -2  

                                                              …………. orange. aAhmad eats  -3 

....................... eggs?some  re thereA -4   

  ( make a question)                                               

1-There are some cookies . …………………………………………...? 

2-There is some juice.  …………………………………………………? 

( answer)                     

1- is there any milk?                    No, ……………………………….………………   

2-  Are there any fries?                 Yes,………………………………………………..    

Mark the nouns with C for count and N for Noncount 

 1-……. water                        2- …… sugar                                   3- …….. books 

4-……. tomatoes                   5-……. Pasta                                   6-……..carrots 

for each picture. missing letter A. Write the 

 

 

 

 

. Find the odd words.B 

1-ice cream            juice                potatoes 

2-oranges               oil                      eggs  

3- Dessert             banana              sweet 

4-flower              Beverages           drinks 
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U:5 is there any ice-cream? 

S….eak  Shri……p …..oup  San…..wich  

Unscramble the food words.. C 

 1-eeffoc ………………..…..        

 2- klim ……………..………..  

 3- tapsa ……………..………. 

 4-crie ……………………….… 

 


